BRIGHTLAND SCHOOL, GHAZIABAD
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REVISION WORKSHEET

Question 1.

The succeeding number of the number 0 is
(@) -1

(b) 0
(€)1
(d) 11.

Question 2.

The succeeding number of the number — 1is
(@-1

(b)1

()0

(d)-11.

Question 3.

The succeeding number of the number = 4 is
(a) -1

(b)-2
(c)-3
(d)-4

Question 4.

The succeeding number of the number 9 is
(@9

(b) 8

(c)10

(d)11.



Question 5.

The preceding number of the number 11s
(a) 1

(b) -1

(c) 2

(d) 0.

Question 6.

The preceding number of the number 013
(a)1

(b) -1

(c)0

(d) none of these.

Question 7.

The preceding number of the number 2 is
(a) 3

(b} 1

(c)0

(d) 4

Question 8.

The preceding number of the number & is
(a) 2

()3

(c) 4

(d) 3



Question 9.

An integer between - 3and - 11s
(@-3

(b) -1

(c)-2

(@)0

Question 10,

Which of the following is true?
(@)0<-

(b)0 >~
(c)4<-
(d)0>6.

Question 11,

Which of the following is false?
(a)—1<-=2

(b) 79 <89
(€)-1<1
(d)1>0.

Question 12.

Which of the following statements is true?

(a) Every positive integer Is larger than every negative integer.
(b) Zero is greater than every positive integer.

(c) Zero s smaller than every negative integer

(d) Farther a number from zero to the right, smaller is its value.



Question 13.

Which of the following statements, is false?

(a) Zero is neither a negative integer nor a positive integer.
(b) Zero is less than every positive integer.

(c) Zero is larger than every negative integer.

(d) Farther a number from zerc on the left, larger is its value.

Question 14.

Which of the following statements, is true?

(a) Greatesi negative integeris — 1.

(b) = 10 is to the right of — 8 on a number line.
(c) — 50 is to the left of — 100 on a number line.
(d) — 11 is larger than - 10.

Question 15
(+ 1} +(+2)=?
(a) +
(b) +
(c)+3
(d) -

Question 16.
CH+(—-2)=2



Question 17.

Question 18.
(-4)+(+3)=7
(8) -1

(b) 1

(€)0

(d)+ 2.

Question 19.
N+(-1)=7?
(8) —1

(b) -2

(c)2

(¢)0

Question 20.

(— 1)+ (-i- 1)=?
(@-1

(b) +1

(c)0

(d) none of these.



Question 21.

Question 22.

(1) -(-2)=?
(=1

(b) 1

(c)0

(d) none of these.

Question 23.

Question 24.
10+7=0
(3a) -1
(b)-10
(c)0

()1



Question 25.
9+(-9)=?

(@) 9

(b)-9
(€)1
(d)0

Question 26.
-N+?=-2
(@1

(b) -1

(€)0

(d)2

Question 27.
?2-5=-5
(a} 0
(b) 5
(c)-5
(@)1

Question 28.
p I .
(a1
(b) 2
(c) 3
(d) 4.



Question 29.
2=L1)=2-(-3)=
(a)0

(b)1

(c)2

(d) 3

Question 30.
o o | e S
(2)3

(b) 4
(c)2
(d)5



